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P(6,D) = P(O)P(D|O)
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pP@6,D) P(6)P(D|O)
P(0|D) = P(D) = P(D) Bayes’ rule
o P(6)P(D|6) P(D) T

~ P(D|0) P(O) ~ EFD L E



Jdln

2R P(O|D) K& %

R IIHFEETHE L WNFETH
AW THEHEET DI ENTZE S

ERDMAOIEERE -
Markov chain Monte Carlo (MCMC) B> 7' > 7



(RELL) ELE

(base) PS V:¥xxxxx> cat random_1.py
x=19
i=0
while True:

x=(7*x) %31

print(x, end ="")

i+=1

if i > 20:

break

(base) PS V:¥xxxxx> python random_1.py
91718214542810825201619917182
14
(base) PS V:¥xxxxx>



0.40

0.35 4

0.30 4

0.25

0.20 1

0.15

0.10

0.05 A

0.00 4

\

FER D DELIUC & D2 HETE

SREERDH

Density

0.40

0.35

0.30 1

0.25

0.20 4

0.15 -

0.10 1

0.05

0.00

=== KDE Est.

import scipy.stats as ss; import matplotlib.pyplot as plt

import seaborn as sb; import numpy as np

xcoord = np.linspace(-4, 4, 1000); ycoord = ss.norm.pdf(xcoord)
plt.plot(xcoord, ycoord, c ="'r')

samples = ss.norm(0.0, 1.0).rvs(size =1_000_000)

plt.hist(samples, bins = 20, density = True, alpha = 0.5)
sb.kdeplot(samples, color ='b', linestyle ="', Iw = 3, label = 'KDE Est.")
plt.show()
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import scipy.stats as ss
import numpy as np
import matplotlib.pyplot as plt

thetas = np.linspace(0, 1, 100)

# k=7, N=10, N-k=3

ps = ss.beta.pdf(thetas, 1+7, 1+3)
plt.plot(thetas, ps)
plt.savefig('BinExact.png')
plt.show()
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import scipy.stats as ss; import numpy as np; import pystan
import matplotlib.pyplot as plt; import seaborn as sb

thetas = np.linspace(0, 1, 100)
# k=7, N=10, N-k=3
ps = ss.beta.pdf(thetas, 1+7, 1+3)

Code_Bin="""
data {int N; int k; }
parameters { real<lower = 0.0, upper = 1.0> theta; }
model {
theta ~ uniform(0.0, 1.0); k ~ binomial(N, theta);

}

sm = pystan.StanModel(model_code = Code_Bin)

fit = sm.sampling(data = {'N":10, 'k":7}, n_jobs = 1)
plt.hist(fit['theta'], density = True, alpha = 0.5)
plt.plot(thetas, ps, label = 'theory')
sb.kdeplot(fit['theta'], label = 'kde est.')

plt.legend(); plt.savefig('FigSampleExact.png'); plt.show()
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Stan D 24

Stan|XAnacondaDIRIEIRIETA VA F—ILT H5DHAEETH 5,

Anaconda® A Y A b =L &fFEWEDERAT7 = 7H% 1 b
http://y-okamoto-psy1949.la.coocan.jp/Python/tips/UsingPython/#BM _InstAna

Anaconda CT®DPyStan (PythonfdDStan) DA X~k —IILDEREBY = 7H A k

http://y-okamoto-psy1949.la.coocan.jp/bayesian/pystan/
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AL [WE X SEITAWLPYythonTT — X o] AEHRR. F£10E
http://y-okamoto-psy1949.la.coocan.jp/booksetc/pyda/



StanX 7 U 7k DRERK

https://mc-stan.org/docs/2_28/reference-manual/index.html

B@*ﬂlﬁ%%ﬁ functions { ... }

T—XEEH : data{...}

T — R ER transformed data { ... }

INT A —ZEEZEL . parameters { ... }

ZHa/X T A — ZER © transformed parameters { ... }
ETIIEEES  model{..}

28 - ZHERR D O — F DRI
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BEBHIHN, StanTIE 1 HHTHh B,
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LK int S # real S
AV vector row_vector 7X&
simplex[3] s; s[i] >= 0.0

s[1] +s[2] +s[3] =1

1750 matrix

fc ) real[2] a[3]; a[1][1] a[1][2]

a[2][1] a[2][2]
a[3][1] a[3][2]
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for (k in 1:N) {

L)

while () { X }

if (Z%15)
X

if (Z514)
X

else

X
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Stan

P(0|D) x P(O)P(D|6)

P(0) £ P(D|9) % &k » P(OID)ICRES EBDY T T
data {
int N;
int k;
’ D
}

parameters {
real<lower = 0.0, upper = 1.0> theta;

}

model { P(6)
theta ~ beta(1.0, 1.0);
k ~ binomial(N, theta);

\ P(D|6)



import pystan; import numpy as np
import matplotlib.pyplot as plt
Stan_Code ="""
data {
int N;
int k;
}
parameters {
real<lower = 0.0, upper = 1.0> theta;
}
model {
theta ~ beta(1.0, 1.0);
k ~ binomial(N, theta);
}

sm = pystan.StanModel(model_code = Stan_Code)
fit = sm.sampling(data = {'N":10, 'k":7}, n_jobs = 1)
print(fit)

plt.hist(fit['theta'])
plt.savefig('FigStanSample.png'); plt.show()
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StanX 27 ) 7 b D3> s8A JLPythonX 7 Y 7 k

sm = pystan.StanModel(model_code= X 7 U 7 k X F 7))

sm = pystan.StanModel(file =StanX 7 U 7' b 7 7 4 L )

MCMCH > 7Y >~ 7 1TPython R 7 1) 7' |
fit = sm.sampling(data = 7 — %, n_jobs = 1)

Windows T (&, n_jobs=1(347B



PyStan® 7 7 AStanModel & X/ v K (B8 sampling® i B8

https://pystan2.readthedocs.io/en/latest/api.html

class pystan.StanModel(file=None, charset="utf-8', model_name='anon_model', model_code=None,
stanc_ret=None, include_paths=None, boost_lib=None, eigen_lib=None, verbose=False,
obfuscate_model_name=True, extra_compile_args=None, allow_undefined=False, include_dirs=None,
includes=None)  [source]

sampling(data=None, pars=None, chains=4, iter=2000, warmup=None, thin=1, seed=None, init="random’,
sample_file=None, diagnostic_file=None, verbose=False, algorithm=None, control=None, n_jobs=-1,
**kwargs} [source]

2022.02 19
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NEUIT (AN) . EEFEKEIT (N) THHHER

P(Py, k) = P(Py)P(k|Py)
P(P)=1, 0<P;<1

1
PCZPdX1+(1—Pd)X§
P(k|IN) = yCiP.*(1 — P)ONF = P(k|P,)

data{ intN; intk; }

parameters { real<lower = 0.0, upper =1.0>Pd; }

transformed parameters { real Pc; Pc=Pd+(1.0-Pd) * (1/3.0); }
model { Pd ~ uniform(0.0, 1.0); k ~ binomial(N, Pc); }



N = int(input('N ="))
k =int(input('k ='))

Data={N": N, 'k': kj

sm = pystan.StanModel(file = 'tri_test.stan’)
fit = sm.sampling(data = Data, iter =20 _000, n_jobs = 1)

print(rit)
sb.kdeplot(fit['Pd'])
plt.hist(fit['Pd'], density = True, color ='g', alpha = 0.5)
MAPEst = CalcMAPEst(fit['Pd'])[0]
plt.scatter([MAPEst], [0], marker ='0', s = 200,
c = 'magenta’, label = f'mode = {MAPEst:.2f}')

L_bndry, R_bndry = calcHDI(fit['Pd'], 0.05)
plt.plot([L_bndry, R_bndry], [0, 0], c="r', Iw =5,

label = '95% HDI [{0:.2f}, {1:.2f}]".format(L_bndry, R_bndry))
plt.yticks([])
plt.xlabel('Pd’, fontsize = 12)
plt.title(f'Posterior distribution¥nN = {N}, k = {k}', fontsize = 16)
plt.legend()
plt.savefig('FigPd.png')
plt.show()
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(py39) PS V:¥XXXXX¥samples 2> python TriTest.py
INFO:numexpr.utils:NumExpr defaulting to 8 threads.

N =50

k=30

INFO:pystan:COMPILING THE C++ CODE FOR MODEL
anon_model 1aOcebab3a4d4923fab357ad23b08ab6 NOW.

A, Figure 1 - m} *

A€ PQE=EB 000
Posterior distribution
N =50, k=30

. mode = 0.42
== 95% HDI [0.20, 0.59]

Density

0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
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u = logit(p) = log Ay hZih

1-p
p = logit_l(u) = 1 ig_j_m \\/\ v/ I\ZQEE’%
1+ exp(—u)
0<p<l], —oo < U< +00
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0.8 -
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import numpy as np
import matplotlib.pyplot as plt

def inv_logit(u):
return 1.0 / (1.0 + np.exp(-u))

x_coord = np.linspace(-5, 5, 1001)
y_coord =inv_logit(x_coord)

plt.plot(x_coord, y_coord)
plt.hlines(O, -5, 5, colors = 'k', lw = 1)
plt.hlines(1, -5, 5, colors = 'k', lw = 1)
plt.xlabel('u’, fontsize = 16)
plt.ylabel('p’, fontsize = 16)
plt.savefig('DrawlLogit.png')
plt.show()
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PdB = 1/(1 + exp(—fB))
PdC = 1/(1 + exp(—fC))

PdBC = 1/(1 + exp(—(fB + fC + fBC)))
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data {
int NB; intkB; intNC, intkC, intNBC; intkBC;

}

parameters { real fB; real fC, real fBC; }

transformed parameters {
real<lower = 0.0, upper = 1.0> PdB; real<lower = 0.0, upper = 1.0> PdC;
real<lower = 0.0, upper = 1.0> PdBC; real<lower = 0.0, upper = 1.0> PcB;
real<lower = 0.0, upper = 1.0> PcC; real<lower = 0.0, upper = 1.0> PcBC;

PdB=1.0/(1.0 + exp(-fB)); PdC=1.0/ (1.0 + exp(-fC));
PdBC =1.0/ (1.0 + exp(-(fB + fC + fBC)));

PcB =PdB + (1.0 - PdB) * (1.0 /3.0); PcC=PdC+ (1.0-PdC) * (1.0/ 3.0);
PcBC = PdBC + (1.0 - PdBC) * (1.0 / 3.0);

}

model {
fB ~ normal(0.0, 5.0); fC~ normal(0.0,5.0); fBC~ normal(0.0, 5.0);
kB ~ binomial(NB, PcB); kC ~ binomial(NC, PcC);
kBC ~ binomial(NBC, PcBC);

}



kB = int(input('kB ="))

NB = int(input('NB ="))
kC = int(input('kC ="))

NC = int(input('NC ="))
kBC = int(input('kBC ="'))
NBC = int(input('NBC ="))

sm = pystan.StanModel(file = 'tri_test_logistic.stan')
Data = {'kB": kB, 'NB': NB, 'kC": kC, 'NC': NC, 'kBC": kBC, 'NBC': NBC}

fit = sm.sampling(data = Data, iter = 10_000, n_jobs = 1)
print(fit)



(py39) PS V:¥XXXXX¥prgs¥samples 2> python TriTestLogistic.py
INFO:numexpr.utils:NumExpr defaulting to 8 threads.

kB = 60

NB =100

kC = 40

NC =100

kBC = 80

NBC = 100

INFO:pystan:COMPILING THE C++ CODE FOR MODEL
anon_model 4312910542bc7d69288e7e381elcbb27 NOW.



Posterior distribtion
kB = 60, NB = 100, kC = 40, NC = 100

kBC = 80, NBC = 100

fB, mode = -0.38,

Density

|

95% HDI = [-1.08, 0.17]

fC, mode = -2.11,
95% HDI = [-6.48, -0.95]

fBC, mode = 3.50,
95% HDI = [1.96, 7.88]

10

15

Posterior distribtion
kB = 60, NB = 100, kC = 40, NC = 100
kBC = 80, NBC = 100

Density

PdB, mode = 0.40,
95% HDI = [0.25, 0.54]

PdC, mode = 0.01,
95% HDI = [0.00, 0.20]

PdBC, mode = 0.70,
95% HDI = [0.57, 0.81]

0.8

2022.02
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(py39) PS V:¥XXXXX¥samples_2> python TriTestLogistic.py
INFO:numexpr.utils:NumExpr defaulting to 8 threads.

kB = 80

NB =100

kC=70

NC =100

kBC = 40

NBC =100

INFO:pystan:COMPILING THE C++ CODE FOR MODEL
anon_model 4312910542bc7d69288e7e381elcbb27 NOW.



Posterior distribtion
kB = 80, NB = 100, kC = 70, NC = 100
kBC = 40, NBC = 100

Density

fB, mode = 0.81,
95% HDI = [0.27, 1.38]

fC, mode = 0.19,
95% HDI = [-0.39, 0.73]

fBC, mode = -3.38,
95% HDI = [-10.05, -1.66]

Posterior distribtion
kB = 80, NB = 100, kC = 70, NC = 100
kBC = 40, NBC = 100

Density

PdB, mode = 0.70,
95% HDI = [0.58, 0.81]

PdC, mode = 0.55,
95% HDI = [0.40, 0.67]

PdBC, mode = 0.00,

95% HDI = [0.00, 0.19]

0.0

0.2

0.4 0.6 0.8
Prob. of detection

2022.02
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data {
int N;
int<lower =0, upper = 1> Rs[N];
real As[N];
}
parameters {
real a; real b;
}
transformed parameters {
real <lower = 0.0, upper = 1.0> Pd[N];
real<lower = 0.0, upper = 1.0> Pc[N]; // Probability of correct response
for (i in 1:N) {
Pd[i] = inv_logit(a + b * As[i]); // Logistic regression model
Pc[i] = Pd[i] + (1.0 - Pd[i]) * (1.0/3.0);
}
}

model {
a ~ normal(0.0, 10.0); b ~ normal(0.0, 10.0); // weakly informative priot
Rs ~ bernoulli(Pc);

}



RET—% : (IEZ1)/38%(0), £

Data = (
(1,33),(0,20),(0,42),(1,20),(0,44),(1,23),(0,54),(1,24),(0,59),(0,49),
(0,42),(1,35),(0,49),(0,54),(0,59),(1,20),(0,33),(0,41),(1,59),(1,34),
(1,50),(1,52),(1,24),(1,22),(1,20),(1,50),(1,53),(1,32),(1,57),(0,48),
(1,47),(1,35),(1,21),(1,56),(1,58),(0,36),(1,49),(1,23),(1,24),(1,36),
(1,38),(1,48),(0,59),(1,23),(1,46),(1,32),(1,36),(1,58),(0,47),(1,31),
(0,59),(0,50),(1,33),(0,55),(1,28),(1,53),(1,36),(1,45),(1,52),(0,49),
(0,53),(1,36),(1,58),(1,33),(0,40),(0,43),(0,50),(1,30),(1,58),(1,32),
(1,29),(1,56),(0,34),(0,54),(1,40),(0,46),(1,43),(1,20),(1,27),(1,23),
(0,56),(1,28),(1,24),(1,44),(0,50),(1,38),(0,41),(0,30),(1,48),(0,37),
(1,41),(0,38),(0,56),(0,38),(0,20),(1,32),(0,26),(0,35),(1,41),(0,52),
(1,37),(1,52),(1,26),(0,35),(0,50),(1,29),(1,36),(0,34),(1,32),(1,34),
(0,58),(1,28),(1,26),(1,32),(1,50),(1,21),(0,25),(0,33),(1,20),(0,59),
(0,47),(1,42),(1,25),(1,59),(0,47),(0,35),(1,57),(1,24),(1,50),(0,53),
(1,41),(0,50),(0,59),(1,46),(1,27),(1,40),(0,50),(1,47),(1,53),(1,48),
(1,37),(1,42),(0,24),(0,44),(1,34),(0,38),(1,43),(1,32),(1,50),(0,39),
(0,29),(0,51),(0,44),(1,23),(0,21),(1,54),(1,25),(0,49),(0,42),(0,27),
(0,58),(1,34),(0,59),(1,40),(1,40),(1,35),(1,54),(0,59),(1,37),(0,40),
(0,53),(1,45),(1,34),(1,42),(1,20),(1,51),(1,34),(1,21),(1,37),(1,43),
(1,34),(1,29),(0,59),(0,47),(1,25),(1,24),(1,33),(1,27),(1,32),(1,31),
(1,54),(1,48),(0,34),(0,59),(1,33),(0,49),(1,42),(1,31),(0,51),(0,54)
)
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N = len(Data)
print(N)

Rs = np.array(Data).T[O]
As = np.array(Data).T[1]

Raw_As = As.copy()

As_mean = np.mean(As)
As_sd = np.std(As)

R

As = (As - As_mean) / As_sd

# StanXZ7 U7 hoavAL
sm = pystan.StanModel(file = 'reg_age.stan')

#  MCMCH T Uro

fit = sm.sampling(data = {'N":N, 'Rs': Rs, 'As': As},
pars =['a’, 'b'], iter = 10_000, n_jobs = 1)

print(fit)



(py39) PS V:¥XXXXX¥samples_2> python TriLogRegAge.py
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Density
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http://y-okamoto-psy1949.la.coocan.jp/Python/misc/TriangularTestPd/#BM _Logistic

dOEFEETIL

http://y-okamoto-psy1949.la.coocan.jp/Python/misc/TriTestDRgrssn/
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(b) N=50. k=25
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707 7 LTriTest.pyz &84 7 7 A Jbsample 2.zipD X 7> O— K

http://y-okamoto-psy1949.la.coocan.jp/booksetc/Lec2022BysnPM/

F20RIAY TR YT (sample_2.zip)



1 . _lj_ 7 }[/_lj_ /f A @J:t%"\ Posterior distribution
N=10,k=5

@ mode=0.28
mmm= 95% HDI [0.00, 0.61]

(py39) PS V:¥XXXX¥samples_2> python .¥TriTest.py
INFO:numexpr.utils:NumExpr defaulting to 8 threads.

N =10

k=5

INFO:pystan:COMPILING THE C++ CODE FOR MODEL
anon_model 1a0cebab3a4d4923fab357ad23b08ab6 NOW.

Density

Posterior distribution

N =40,k =20
mode = 0.26
= 95% HDI [0.04, 0.47] 0.0 0.2 0.4 0.6 0.8 1.0
Pd
Posterior distribution
N =100, k=50
mode = 0.25

mmmm 95% HDI [0.11, 0.39]

Density

Density
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